
=t \sl r> ryu\ut)

(ql qr4qF{+ e<.t or qrffir-+ qfivrqr wr t ? 
1

qrqt +lfsqt

5. What is market failure ? Explain the various instruments of

-internalizing extemalities. 15

qrqn frscdr wr t ? qrccrsfr * qqr+{H + frFffi

itdt o.r qof? frlf,dqt

Explain how nature of demand and supply in factor market

differ from goods market ? Derive the supply curve of the

labour and under what circumstances it becomes backward

bending ? 15

qrql EIEIR q qFI qq {E th.r vE]r re. qiliR tt

*i ftrq t ? s"ir q1frqr :rq * 1ffi trt qev-<

qitqq eql T6 f6-{ qftRqftrd i +} ft1 +{ {-S
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Distinguish between monopoly and perfect compelition

market using suitable diagram.

Under what conditions a nonopolist would exercise price

discrimination ? 9,6

3ctff Urfs-{ $ 6p qorlu-+n Sd Tlf sft+,fr

ErqI{ ii ffi +iiqqr

t+-c cRftqffi fi ltrlnr"r0 qlm frtE m

E#i ?

Explain diagrammatically tong-run equilibrium of a firm

in monopolistic competilion. Why all firms in this market

earn only normal profit in the lonpi-run ?'

Show with the help of a diagram the prevalence of excess

capacity in monopolistic competition ? 10,5

qnrfY+lR-s cffi,fr v-C * qtffil {q<n ol

totfq*c frsqq o1fuqt y€ srqR d frd-+,rd

{ qsfr tF{ *qe qrqrq EIq 6 d +.rII qrfr

tz

(3)

<q) (rorftmlkfi Yft+Frdr * q<'id

eilftrf, 61 tqli+* o1 wrcm

qq qTErdr $

t <vriti r

(B) Explain Nash equilibrium with the help of an

illustration. 9,6

(sr) sflflrFr*.R sMR 61 g@ fsM sir-

t I ererFron + ttcn +fe *se o1 qrqt

o1fuqr

(s) qs'<rrtq +1 $6rq-dl i iyr ri$dl o1 qrqt

crlqq r

(A) Explain the process of market adjustmenl to the chang€s

in demand with appropriate diagrams.

(B) What is public provision of public goods ?

Explain. &7

8&8

(A)

(B)

(3{)

(s)

(A)

(B)

(3i)

,l

3. (A) What are the key features of oligopoly market ? Exflain

the pricd leadership model of oligopoly.

2.

(
4.

I

P.T.O.

t

I

I

(

(





(5) 8608

1. Why ftade takes place between tuo countries ? Explain the

comparative cost advantage theory of intemational rade. What

are the main drawbacks of this theory ? 15

A M + *q.alrcr Hl AnT t ? erctBq qrqn

* ge-ne-o €rkr ttrq fugr< st qreqr +lfuqr rs
tu6r< ql Eq o'fird 6t{-ffi t ?

8. Write short notes on 
"ny 

beo of the following : 7.5,7.5

(A) Trade Barriers

(B) Imperfectinformation

(C) Evaluation of market mechanism

(D) Prisoners dilemma.

f{EftF€( d t t+-d d .n {ierq fsqsfr ffifus

(s{) qrqR qrqd

(q) sT1ol qT6r€r

(s) qMR iii ol asi*r
(<) efr ghurr
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